Non Sibi High School

Andover’s Chem 300: Accelerated/Honors Chemistry

Chapter 2, Review Quiz 1 Answers

1

Convert the following:
a. 0.040 milligrams neon to number of neon atoms
b. 7.43 x 10%> magnesium atoms to kilograms magnesium

a.

1 1 mol .02 x 10% at
0.040 mg Ne & o 0.02 x 107 atoms = 1.2 x 10'® atoms Ne
1000 mg 20.18¢g 1mol

1 mol 24.31¢g 1kg
3 10 atome =3.00kgM
T aoms e (6.02 X 1023 atoms) ( Lmol ) <1000g) o

2

The density of liquid CoHy(NHs)s is 0.90 g/mL. What is the volume in liters of
1.08 x10%¢ molecules of CoHy(NHy)o?

1mol 60.10¢g I mL 1L
1.08 x 10® molecul -2k
8 X molecuies (6,02 x 1023 moleculcs) ( 1 mol ) (0.90g> (1000 mL)

3

The density of solid C12H92017 is 1.59 g/cm?’. How many molecules are in
75 cm? of C19H22011? How many carbon atoms are in this sample?



1.59g 1 mol 6.02 x 1023 molecules

75 cm? = 2.1 x 102 molecules
o <lcm3> <342.3g) < 1 mol x molecules

12Catoms

2.1 x 10?3 molecules
1 molecule

> = 2.5 x 10%* C atoms

DOE0

BY NG MDD
This work is licensed under a
Creative Commons Attribution-NonCommercial-NoDerivs 3.0 Unported License
Contact: kcardozo@andover.edu



http://creativecommons.org/licenses/by-nc-nd/3.0/deed.en_US

